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Q.1 Read the given statement and conclusions carefully. Assuming that the information given in
the statements is true, even if it appears to be at variance with commonly known facts,
decide which of the given conclusions logically follow(s) from the statement.
Statement :


Mr X cracked the UPSC (IAS) whose performance credit is used by 2 coaching in their
Advertisement in Newspaper.

Conclusion:

I. Mr. X took the guidance from both the coaching.


II. One coaching may put false information in Newspaper.

Ans 1. Either conclusion I or II follows.

2. Only conclusion I follows.

3. Only conclusion II follows.

4. Both conclusions I and II follow.

Question ID : 630680266817
Option 1 ID : 6306801036681
Option 2 ID : 6306801036679
Option 3 ID : 6306801036680
Option 4 ID : 6306801036682

Q.2

Ans 1. 

2. 

3. 

4. 

Question ID : 630680266821
Option 1 ID : 6306801036698
Option 2 ID : 6306801036695
Option 3 ID : 6306801036697
Option 4 ID : 6306801036696
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Q.3 Select the number from among the given options that can replace the question mark (?) in
the following series. 

3, 3, 6, 14, 29, 53, ?

Ans 1. 93

2. 86

3. 88

4. 79

Question ID : 630680266819
Option 1 ID : 6306801036688
Option 2 ID : 6306801036687
Option 3 ID : 6306801036689
Option 4 ID : 6306801036690

Q.4 A question is given, followed by two statements labelled I and II. Identify which of the
statements is/are sufficient/necessary to answer the question.
Question: Who is sitting third to the right of Ganga?

Statements:
I. Fahad is sitting third to the left of Ganga and immediate left of Mahesh.
II. Vivek is sitting immediate right of Ganga and immediate left of Gagan.

Ans 1. The data in statement II alone are sufficient to answer the question, while the data in
statement I alone are not sufficient to answer the question.

2. Both statements I and II are insufficient to answer the question.

3. The data either in statement I alone or in statement II alone are sufficient to answer
the question.

4. The data in statement I alone are sufficient to answer the question, while the data in
statement II alone are not sufficient to answer the question.

Question ID : 630680266813
Option 1 ID : 6306801036664
Option 2 ID : 6306801036666
Option 3 ID : 6306801036665
Option 4 ID : 6306801036663
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Q.5

Ans

1. 

2. 

3. 

4. 

Question ID : 630680266818
Option 1 ID : 6306801036683
Option 2 ID : 6306801036686
Option 3 ID : 6306801036685
Option 4 ID : 6306801036684

Q.6 In a certain code language, REMOTE is written as GPQKGR. How will DEMONS be written in
that language?

Ans 1. GBQKUL

2. GBQLUK

3. GBQKUM

4. GBQMUK

Question ID : 630680266810
Option 1 ID : 6306801036653
Option 2 ID : 6306801036652
Option 3 ID : 6306801036651
Option 4 ID : 6306801036654
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Q.7 Four letter-cluster pairs have been given, out of which three are alike in some manner and
one is different. Select the one that is different.

Ans 1. EAGERNESS : UQGLTCIYG

2. QUADRATIC : EGVYTBCSS

3. VACANCIES : UCKAPYEYX

4. FABRICANT : HYDPKACLV

Question ID : 630680266816
Option 1 ID : 6306801036675
Option 2 ID : 6306801036677
Option 3 ID : 6306801036678
Option 4 ID : 6306801036676

Q.8 In a certain code language, REGULATION is written as LTGFRMOJTZ. How will
MODULATION be written in that language?

Ans 1. LTDPMNOJTZ

2. LTDPMMOJTZ

3. LTDPMMOJZT

4. LTDPNMOJTZ

Question ID : 630680266809
Option 1 ID : 6306801036647
Option 2 ID : 6306801036648
Option 3 ID : 6306801036650
Option 4 ID : 6306801036649

Q.9 If all the odd digits of the following numbers are replaced by next even number and
arranged in descending order to form new numbers. Which new number will be highest in
all?

Ans 1. 4553

2. 4783

3. 3714

4. 3725

Question ID : 630680266807
Option 1 ID : 6306801036640
Option 2 ID : 6306801036639
Option 3 ID : 6306801036642
Option 4 ID : 6306801036641

Q.10 How many pairs of letters are there in the given word “EXPLOSIVE” which has as many
letters between them as in standard English alphabet?

Ans 1. 3

2. 1

3. 2

4. 4

Question ID : 630680266808
Option 1 ID : 6306801036643
Option 2 ID : 6306801036645
Option 3 ID : 6306801036644
Option 4 ID : 6306801036646
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Q.11 A building has seven floors numbered one to seven, in such a manner that the ground floor
is numbered one, the floor above it numbered two and so on such that the topmost floor is
numbered seven. One of the seven persons, namely, A, B, C, D, E, F, and G lives on each floor,
but not necessarily in the same order.

C lives at odd numbered floor but not at fifth floor. G lives between A and B. Two persons
live between B and D, one of them lives at floor numbered 1. E does not live on top floor. C
lives immediate below B. Who lives at floor numbered 5?

Ans 1. D

2. G

3. E

4. B

Question ID : 630680266804
Option 1 ID : 6306801036630
Option 2 ID : 6306801036629
Option 3 ID : 6306801036627
Option 4 ID : 6306801036628

Q.12 On a secret mission early morning after sunrise, a soldier runs 8 km facing towards Sun and
then suddenly on receiving a message runs 13 km back, then took three consecutive left
turns and runs 4 km, 5 km and 3 km, respectively. How far is the soldier from the starting
point?

Ans 1. 3 km

2. 1 km

3. 2 km

4. 5 km

Question ID : 630680266811
Option 1 ID : 6306801036655
Option 2 ID : 6306801036657
Option 3 ID : 6306801036656
Option 4 ID : 6306801036658

Q.13 In a theatre, a row facing South consists of 9 seats occupied by 4 couples (Roshni, Shyam),
(Rozi, Shaz), (Mahek, Adnan) and (Kanchan, Deepak with one kid Bheem) as follows:

• Female are sitting at extreme end only.
• Couples always sitting together so that no wife of any couple ever sitting with the husband
of other.
• Couple with kid is sitting at extreme end with his kid between them.
• Rozi and Mahek are sitting together.
• Roshni is sitting to the extreme left end.
Who is sitting at extreme ends of the row?

Ans 1. Kanchan, Mahek

2. Kanchan, Rozi

3. Kanchan, Roshni

4. Roshni, Mahek

Question ID : 630680266802
Option 1 ID : 6306801036620
Option 2 ID : 6306801036619
Option 3 ID : 6306801036622
Option 4 ID : 6306801036621
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Q.14 Three statements are given, followed by three conclusions numbered I, II, and III. Assuming
the statements to be true, even if they seem to be at variance from commonly known facts,
decide which of the conclusions logically follow(s) from the given statements.

Statements: 
A. All hens are dogs.
B. Some hens are cats.
C. All cats are lions.

Conclusions:
I. Some dogs are hens.
II. Some dogs are cats.
III. Some lions are hens.

Ans 1. Only conclusions I follows

2. Only conclusions II and III follow

3. Only conclusion I and II follows

4. All the conclusions I, II and III follow

Question ID : 630680266805
Option 1 ID : 6306801036631
Option 2 ID : 6306801036632
Option 3 ID : 6306801036634
Option 4 ID : 6306801036633

Q.15 Four number triads have been given, out of which three are alike in some manner and one is
different. Select the one that is different.

Ans 1. (29, 36, 522)

2. (13, 18, 117)

3. (18, 23, 209)

4. (22, 39, 429)

Question ID : 630680266820
Option 1 ID : 6306801036694
Option 2 ID : 6306801036691
Option 3 ID : 6306801036692
Option 4 ID : 6306801036693

Q.16 Pointing towards a man sitting in a park, a lady, Kajol says, “He is the son of the only
daughter of my maternal grandfather.” How is Kajol related to the man sitting in a park?

Ans 1. Sister

2. Uncle

3. Brother

4. Cousin

Question ID : 630680266812
Option 1 ID : 6306801036660
Option 2 ID : 6306801036662
Option 3 ID : 6306801036659
Option 4 ID : 6306801036661
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Q.17 Select the option in which the letter-cluster pair share the same relationship as that shared
by the given pair of letter-clusters.

EXIT: JVHB

Ans 1. QUIT : JVSX

2. QUIT : JUTX

3. QUIT : JVTY

4. QUIT : JUTY

Question ID : 630680266815
Option 1 ID : 6306801036674
Option 2 ID : 6306801036672
Option 3 ID : 6306801036673
Option 4 ID : 6306801036671

Q.18 In a class of 80 students, boys are thrice as girl’s number and Rakesh ranked 66th from the
bottom. If there are 6 girls ahead of Rakesh's rank from the top, how many boys are ranked
behind Rakesh?

Ans 1. 52

2. 51

3. 49

4. 50

Question ID : 630680266803
Option 1 ID : 6306801036623
Option 2 ID : 6306801036624
Option 3 ID : 6306801036626
Option 4 ID : 6306801036625

Q.19 Select the term from among the given options that can replace the question mark (?) in the
following series.

Hatch : Hctah :: ? : Reach

Ans 1. Hrcae

2. Hacer

3. Heacr

4. Hcaer

Question ID : 630680266814
Option 1 ID : 6306801036667
Option 2 ID : 6306801036668
Option 3 ID : 6306801036670
Option 4 ID : 6306801036669
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Q.20 Select the option that will replace the question mark (?) in the following series.

A-4, C-16, E-36, G-64 , ?

Ans 1. I-81

2. I-100

3. H-81

4. H-100

Question ID : 630680266806
Option 1 ID : 6306801036637
Option 2 ID : 6306801036638
Option 3 ID : 6306801036636
Option 4 ID : 6306801036635

Q.1 Jagoi and Cholom are the two main divisions of which of the following dance forms?

Ans 1. Manipur’s dance

2. Odissi

3. Kathakali

4. Kathak

Question ID : 630680266829
Option 1 ID : 6306801036729
Option 2 ID : 6306801036728
Option 3 ID : 6306801036727
Option 4 ID : 6306801036730

Q.2 With respect to storms, what are typhoons?

Ans 1. Tropical cyclone in Southern Indian Ocean

2. Tropical cyclones with sustained winds of 74 m/h in Atlantic and Eastern, Central
Pacific oceans

3. Tropical cyclones in the Northern Indian Ocean, which consists of the Arabian Sea
and the Bay of Bengal

4. Hurricane-equivalent tropical cyclones in Western Pacific Ocean

Question ID : 630680266837
Option 1 ID : 6306801036762
Option 2 ID : 6306801036760
Option 3 ID : 6306801036761
Option 4 ID : 6306801036759

Section : General Awareness
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Q.3 According to Migration and Development Brief of World Bank, India is expected to receive a
record ________ in remittance in 2022, making it the top recipient this year.

Ans 1. $150 billion

2. $100 billion

3. $175 billion

4. $125 billion

Question ID : 630680266832
Option 1 ID : 6306801036741
Option 2 ID : 6306801036739
Option 3 ID : 6306801036742
Option 4 ID : 6306801036740

Q.4 Which of the following statements is/are INCORRECT about Regulation Act, 1773?

1. Legislation was passed by the British Parliament for the regulation of the British East
India Company’s Indian territories, mainly in Bengal.
2. It was the second intervention by the British government in the company’s territorial
affairs.
3. The main provision of the Act was the appointment of a governor-general of Fort William
in Bengal with supervisory powers over the presidencies of Madras and Bombay.

Ans 1. 1 Only

2. 2 Only

3. 2 and 3 only

4. 1 and 2 Only

Question ID : 630680266841
Option 1 ID : 6306801036775
Option 2 ID : 6306801036776
Option 3 ID : 6306801036778
Option 4 ID : 6306801036777

Q.5 Which of the following states formed a State Vulture Conservation Committee (SLVC) in
October 2022 to check the declining population of vultures in the state?

Ans 1. Tamil Nadu

2. Kerala

3. Karnataka

4. Andhra Pradesh

Question ID : 630680266834
Option 1 ID : 6306801036747
Option 2 ID : 6306801036750
Option 3 ID : 6306801036748
Option 4 ID : 6306801036749
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Q.6 Which of the following companies was awarded the Corporate Impact Award in the Critical
Response category at the 2022 Platts Global Energy Awards?

Ans 1. National Thermal Power Corporation Limited,

2. Oil and Natural Gas Corporation

3. Power Grid Corporation of India Limited

4. GAIL India Ltd

Question ID : 630680266836
Option 1 ID : 6306801036756
Option 2 ID : 6306801036757
Option 3 ID : 6306801036758
Option 4 ID : 6306801036755

Q.7 Which of the following carried out a successful launch of a Submarine Launched Ballistic
Missile (SLBM) validating India’s second-strike nuclear capability in October 2022?

Ans 1. INS Sindhudhvaj

2. NS Karanj

3. INS Kalvari

4. INS Arihanth

Question ID : 630680266823
Option 1 ID : 6306801036706
Option 2 ID : 6306801036705
Option 3 ID : 6306801036704
Option 4 ID : 6306801036703

Q.8 Which of the following portals, launched in June 2020, resulted in a steep increase of nearly
300% in number of project proposals from 2019-20 to 2020-21?

Ans 1. Bhargava Portal

2. SATYABHAMA Portal

3. Satrajiti Portal

4. Nagarjuna Portal

Question ID : 630680266835
Option 1 ID : 6306801036753
Option 2 ID : 6306801036751
Option 3 ID : 6306801036754
Option 4 ID : 6306801036752

Q.9 What is the focus area of HDFC Bank’s sixth annual grants program for social startups,
Parivartan SmartUp Grants, in partnership with the Government of India?

Ans 1. Artificial intelligence driven entrepreneurship

2. Startups working in the social sector to offer unique solutions that bring a sustainable
change

3. Start-ups and incubators focused on environment, health and gender diversity

4. Building capacities of incubators and startups working in tier-II and III cities.

Question ID : 630680266833
Option 1 ID : 6306801036746
Option 2 ID : 6306801036745
Option 3 ID : 6306801036743
Option 4 ID : 6306801036744
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Q.10 According to Economic Survey 2021-22, India has the world's _________ largest Forex
reserve holding as of the end of November 2021.

Ans 1. fourth

2. fifth

3. sixth

4. third

Question ID : 630680266831
Option 1 ID : 6306801036736
Option 2 ID : 6306801036737
Option 3 ID : 6306801036738
Option 4 ID : 6306801036735

Q.11 Which of the following princely states was annexed under the Doctrine of Lapse?

Ans 1. Mysore

2. Jaipur

3. Satara

4. Berar

Question ID : 630680266828
Option 1 ID : 6306801036725
Option 2 ID : 6306801036726
Option 3 ID : 6306801036724
Option 4 ID : 6306801036723

Q.12 Ahom Kingdom was annexed by the Mughals under the leadership of which ruler?

Ans 1. Afzal Khan

2. Malik Ambar

3. Mir Jumla

4. Shaista Khan

Question ID : 630680266827
Option 1 ID : 6306801036722
Option 2 ID : 6306801036721
Option 3 ID : 6306801036719
Option 4 ID : 6306801036720

Q.13 Which of the following is a Noble Gas?

Ans 1. Nitrogen

2. Krypton

3. Fluorine

4. Hydrogen

Question ID : 630680266838
Option 1 ID : 6306801036765
Option 2 ID : 6306801036763
Option 3 ID : 6306801036766
Option 4 ID : 6306801036764
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Q.14 Which of the following percussion instruments is played when one side is struck and the
other side is stroked?

Ans 1. Perumal madu drum

2. Mridangam

3. Nagara

4. Tavil

Question ID : 630680266830
Option 1 ID : 6306801036734
Option 2 ID : 6306801036732
Option 3 ID : 6306801036733
Option 4 ID : 6306801036731

Q.15 UNICEF India signed a Statement of Intent (SoI) on the Sustainable Development Goals
(SDGs) with a focus on children and seeks to formalise a framework of cooperation to
launch the first report on the ‘State of India’s Children: Status and Trends in
Multidimensional Child Development’ with which of the following organisations in April
2022?

Ans 1. Department of School Education and Literacy

2. Niti Aayog

3. Central Board of Secondary Education

4. National Council of Educational Research and Training

Question ID : 630680266825
Option 1 ID : 6306801036714
Option 2 ID : 6306801036713
Option 3 ID : 6306801036712
Option 4 ID : 6306801036711

Q.16 According to UN population report 2022, what was India's net outflow of migrants between
2010 and 2021 due to temporary labour movements?

Ans 1. 16.5 million

2. 3.5 million

3. 4.8 million

4. 2.9 million

Question ID : 630680266824
Option 1 ID : 6306801036707
Option 2 ID : 6306801036708
Option 3 ID : 6306801036710
Option 4 ID : 6306801036709
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Q.17 Which of the following is NOT one of the methods to transport small molecules (such as
glucose, amino acids, water, mineral ions etc.) across the plasma membrane?

Ans 1. Active transport

2. Osmosis

3. Diffusion

4. Endocytosis

Question ID : 630680266839
Option 1 ID : 6306801036769
Option 2 ID : 6306801036768
Option 3 ID : 6306801036767
Option 4 ID : 6306801036770

Q.18 Which of the following missions aims to launch Vikram-S, a single-stage solid fueled sub-
orbital rocket from India’s spaceport the Satish Dhawan Space Centre, Srihari Kota on 18
November 2022?

Ans 1. Mission Pinaka

2. Mission Prarambh

3. Mission Shakti

4. Mission Parakram

Question ID : 630680266822
Option 1 ID : 6306801036699
Option 2 ID : 6306801036700
Option 3 ID : 6306801036701
Option 4 ID : 6306801036702

Q.19 In which country was the third T20 World Cup Cricket Tournament for the Blind held from 5
to 17 December 2022? 

Ans 1. India

2. Pakistan

3. South Africa

4. Australia

Question ID : 630680266826
Option 1 ID : 6306801036715
Option 2 ID : 6306801036716
Option 3 ID : 6306801036718
Option 4 ID : 6306801036717

Q.20 Which of the following is a Constitutional Body?

Ans 1. Central Vigilance Commission

2. National Commission for Minorities

3. National Commission for Scheduled Caste

4. National Human Rights Commission

Question ID : 630680266840
Option 1 ID : 6306801036773
Option 2 ID : 6306801036772
Option 3 ID : 6306801036774
Option 4 ID : 6306801036771
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Q.1 When 3201, 4053 and 5544 are divided by a two-digit number x, the remainder in each case
is y. What is the value of (3x – y)?

Ans 1. 183

2. 197

3. 207

4. 203

Question ID : 630680266844
Option 1 ID : 6306801036787
Option 2 ID : 6306801036789
Option 3 ID : 6306801036790
Option 4 ID : 6306801036788

Q.2 A 220 m long train crosses a man moving in the opposite direction in 15 seconds. If the
speed of the train is 9 times more than that of the man, then what is the speed (in km/h) of
the train?

Ans 1. 45

2. 50

3. 48

4. 54

Question ID : 630680266855
Option 1 ID : 6306801036831
Option 2 ID : 6306801036833
Option 3 ID : 6306801036832
Option 4 ID : 6306801036834

Q.3 Pipes A and B can fill a tank in 10 hours and 15 hours, respectively. Pipe C is an emptying
pipe. Pipes A and B are opened for 4 hours and then closed and pipe C was opened. The
tank got emptied in 6 hours. Pipe C alone can empty the full tank in:

Ans 1. 

2. 

3. 

4. 

Question ID : 630680266856
Option 1 ID : 6306801036838
Option 2 ID : 6306801036837
Option 3 ID : 6306801036836
Option 4 ID : 6306801036835

Section : Arithmetical and Numerical Ability
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Q.4 The marked price of an article is ₹540. It is sold for ₹330.48, after giving three successive
discounts of 20%, 10% and x%. What will be the selling price if article is sold by giving a
single discount of 2x% on its marked price?

Ans 1. ₹410.40

2. ₹378

3. ₹432

4. ₹367.20

Question ID : 630680266849
Option 1 ID : 6306801036809
Option 2 ID : 6306801036808
Option 3 ID : 6306801036807
Option 4 ID : 6306801036810

Q.5 A varies directly as B and inversely as C. When B = 15, C = 9, then A = 12. What is the value
of A, if B = 35 and C = 12?

Ans 1. 21

2. 24

3. 15

4. 18

Question ID : 630680266851
Option 1 ID : 6306801036817
Option 2 ID : 6306801036818
Option 3 ID : 6306801036815
Option 4 ID : 6306801036816

Q.6 If the 8-digit number 42x359y2 is divisible by 88, then which of the following is NOT true?

Ans 1. x = 2, y = 5

2. x = y= 9

3. x = 6, y = 1

4. x = 5, y = 6

Question ID : 630680266843
Option 1 ID : 6306801036786
Option 2 ID : 6306801036785
Option 3 ID : 6306801036783
Option 4 ID : 6306801036784

Q.7

Ans 1. 7.8 percent

2. 9 percent

3. 8 percent

4. 8.4 percent

Question ID : 630680266854
Option 1 ID : 6306801036827
Option 2 ID : 6306801036830
Option 3 ID : 6306801036828
Option 4 ID : 6306801036829
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Q.8

Ans 1. 5 : 8

2. 3 : 5

3. 2 : 3

4. 5 : 6

Question ID : 630680266861
Option 1 ID : 6306801036857
Option 2 ID : 6306801036856
Option 3 ID : 6306801036855
Option 4 ID : 6306801036858

Q.9 Four years ago, the ratio of ages (in years) of Anil and Bandhu was 3 : 4. After 8 years from
now, the ratio of their ages will be 5 : 6. What is the sum of their present ages (in years)?

Ans 1. 56

2. 50

3. 48

4. 52

Question ID : 630680266852
Option 1 ID : 6306801036822
Option 2 ID : 6306801036820
Option 3 ID : 6306801036819
Option 4 ID : 6306801036821

Q.10

Ans 1. 637

2. 639

3. 643

4. 635

Question ID : 630680266858
Option 1 ID : 6306801036844
Option 2 ID : 6306801036845
Option 3 ID : 6306801036846
Option 4 ID : 6306801036843

Q.11

Ans 1. 40

2. 32.5

3. 35.5

4. 36

Question ID : 630680266845
Option 1 ID : 6306801036794
Option 2 ID : 6306801036791
Option 3 ID : 6306801036792
Option 4 ID : 6306801036793
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Q.12

Ans 1. 8 days

2. 9 days

3. 12 days

4. 10 days

Question ID : 630680266857
Option 1 ID : 6306801036839
Option 2 ID : 6306801036841
Option 3 ID : 6306801036842
Option 4 ID : 6306801036840

Q.13 Water is flowing at the rate of 5 km/h through a pipe of radius 7 cm into an empty cylindrical
tank of base radius 10.5 m and height 4 m. In what time (in hours) will 80% of the tank be
filled up?

Ans 1. 15

2. 16

3. 14.4

4. 12.5

Question ID : 630680266859
Option 1 ID : 6306801036849
Option 2 ID : 6306801036850
Option 3 ID : 6306801036848
Option 4 ID : 6306801036847

Q.14

Ans 1. 4

2. 3

3. 1

4. 2

Question ID : 630680266842
Option 1 ID : 6306801036782
Option 2 ID : 6306801036781
Option 3 ID : 6306801036779
Option 4 ID : 6306801036780

Q.15

Ans 1. 12

2. 11

3. 10.8

4. 9.5

Question ID : 630680266853
Option 1 ID : 6306801036826
Option 2 ID : 6306801036825
Option 3 ID : 6306801036824
Option 4 ID : 6306801036823

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.16 A is 80% more than B. If A is decreased successively by 20% and 10% and B is increased by
60%, then by what per cent is A less than B?

Ans 1. 16%

2. 20%

3. 19%

4. 18%

Question ID : 630680266847
Option 1 ID : 6306801036799
Option 2 ID : 6306801036802
Option 3 ID : 6306801036801
Option 4 ID : 6306801036800

Q.17

Ans 1. 140

2. 120

3. 160

4. 100

Question ID : 630680266860
Option 1 ID : 6306801036853
Option 2 ID : 6306801036852
Option 3 ID : 6306801036854
Option 4 ID : 6306801036851

Q.18 The marked price of an article is ₹2,500. When it is sold by giving a 25% discount on the
marked price, there is a loss of 10%. If the cost price of the article increases by 8%, then
how much discount (in ₹) should be given on the same marked price so that there is a profit
of 10%?

Ans 1. 30

2. 20

3. 32

4. 25

Question ID : 630680266850
Option 1 ID : 6306801036813
Option 2 ID : 6306801036811
Option 3 ID : 6306801036814
Option 4 ID : 6306801036812

Q.19 The ratio of acid and water in solution A is 2 : 3 and the ratio of acid and water in solution B
is 8 : 7. Four litres of A are mixed with seven litres of B and one litre of acid is also added to
it. The percentage of acid in the resulting solution is (correct to one decimal place):

Ans 1. 54.5%

2. 51.6%

3. 52.8%

4. 53.2%

Question ID : 630680266846
Option 1 ID : 6306801036798
Option 2 ID : 6306801036795
Option 3 ID : 6306801036796
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Q.20 The monthly expenditure of Arun is ₹36,960 which is 16% less than his monthly income. If
his monthly income increases by 24% and monthly savings increase by 20%, then his new
monthly expenditure exceeds the initial monthly expenditure by:

Ans 1. ₹9,152

2. ₹9,022

3. ₹9,032

4. ₹9,042

Question ID : 630680266848
Option 1 ID : 6306801036806
Option 2 ID : 6306801036803
Option 3 ID : 6306801036804
Option 4 ID : 6306801036805

Q.1 Select the most appropriate option to fill in the blank.

She forgot ________ her English book today to school.

Ans 1. to take

2. takes

3. took

4. take

Question ID : 630680266864
Option 1 ID : 6306801036870
Option 2 ID : 6306801036869
Option 3 ID : 6306801036868
Option 4 ID : 6306801036867

Q.2 Select the most appropriate option to fill in the blank.

We had _______ good breakfast at the hotel.

Ans 1. no word required

2. a

3. an

4. the

Question ID : 630680266862
Option 1 ID : 6306801036862
Option 2 ID : 6306801036859
Option 3 ID : 6306801036860
Option 4 ID : 6306801036861

Section : Test of English Language and Comprehension
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Q.3 Select the sentence with grammatically correct verb form.

Ans 1. Tom has been talking on the phone when the accident happens.

2. Tom was talking on the phone when the accident was happening.

3. Tom is talking on the phone when the accident happened.

4. Tom was talking on the phone when the accident happened.

Question ID : 630680266866
Option 1 ID : 6306801036877
Option 2 ID : 6306801036878
Option 3 ID : 6306801036875
Option 4 ID : 6306801036876

Q.4 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A. There is a huge park in Moscow, known as Peace Park.
B. In the summer, flowers of many colours bloom and the place is a feast to the eyes.
C. The park has beautiful fountains.
D. In the middle of this Peace Park there is a pillar on which the different battles fought by
Russia have beenmentioned along with dates and places.

Ans 1. ACBD

2. ABDC

3. ADCB

4. ABCD

Question ID : 630680266867
Option 1 ID : 6306801036880
Option 2 ID : 6306801036882
Option 3 ID : 6306801036879
Option 4 ID : 6306801036881

Q.5 Select the most appropriate option that can substitute the underlined word in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

A group of wolves attacked the antelopes.

Ans 1. pack

2. flock

3. herd

4. no substitution required

Question ID : 630680266872
Option 1 ID : 6306801036899
Option 2 ID : 6306801036901
Option 3 ID : 6306801036900
Option 4 ID : 6306801036902
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Q.6 Select the most appropriate synonym of the given word to fill in the blank.

PRECARIOUS

The electrician was repairing the connections on the electricity pole hanging in a ________
position.

Ans 1. guarded

2. protected

3. stable

4. dangerous

Question ID : 630680266876
Option 1 ID : 6306801036918
Option 2 ID : 6306801036917
Option 3 ID : 6306801036916
Option 4 ID : 6306801036915

Q.7 Select the option that can substitute the underlined word in the given idiom correctly. If no
substitution is required, select ‘No substitution required’.

pull someone’s nose.

Ans 1. ears

2. leg

3. No substitution required

4. ropes

Question ID : 630680266874
Option 1 ID : 6306801036908
Option 2 ID : 6306801036909
Option 3 ID : 6306801036910
Option 4 ID : 6306801036907

Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A. People have always spent a lot of money and effort on weddings.
B. The amount of money spent sometimes constitutes the entire life’s savings of a person.
C. Then they have to go on repaying the loan throughout their lives.
D. At times people take huge loans for this celebration.

Ans 1. ACBD

2. ABCD

3. ADCB

4. ABDC

Question ID : 630680266868
Option 1 ID : 6306801036884
Option 2 ID : 6306801036885
Option 3 ID : 6306801036883
Option 4 ID : 6306801036886
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Q.9 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A. All the inhabitants of the village were in some way connected with trade or transport.
B. We had occasion to attend several religious festivals, the most impressive of which was
the harvest thanksgiving.
C. The village consisted of about twenty houses dominated by the hill on which the
monastery stood.
D. The village houses were narrow and crowded together, but, nevertheless, every house
had its own courtyard, in which wares were stored.

Ans 1. ADBC

2. CDAB

3. CBDA

4. DACB

Question ID : 630680266869
Option 1 ID : 6306801036887
Option 2 ID : 6306801036889
Option 3 ID : 6306801036888
Option 4 ID : 6306801036890

Q.10 Select the most appropriate option to fill in the blank.

Due to heavy traffic, we reached ________ home late at night.

Ans 1. a

2. an

3. no word required

4. the

Question ID : 630680266863
Option 1 ID : 6306801036863
Option 2 ID : 6306801036864
Option 3 ID : 6306801036866
Option 4 ID : 6306801036865

Q.11 Select the sentence with correct preposition.

Ans 1. I have known her from the last three years.

2. I have known her for the last three years.

3. I have known her since the last three years.

4. I have known her till the last three years.

Question ID : 630680266865
Option 1 ID : 6306801036871
Option 2 ID : 6306801036873
Option 3 ID : 6306801036872
Option 4 ID : 6306801036874
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Q.12 Select the most appropriate option to fill in the blanks.

The English _______ each other a happy Christmas and always send greeting cards. This
_______ was born in England, the first such postcard was printed in 1843 in London.

Ans 1. greet, attitude

2. wish, tradition

3. prefer, legend

4. want, culture

Question ID : 630680266870
Option 1 ID : 6306801036892
Option 2 ID : 6306801036893
Option 3 ID : 6306801036894
Option 4 ID : 6306801036891

Q.13 Select the option that can substitute the underlined word in the given proverb correctly. If no
substitution is required, select ‘No substitution required’.

milk is thicker than water.

Ans 1. No substitution required

2. sap

3. oil

4. blood

Question ID : 630680266873
Option 1 ID : 6306801036906
Option 2 ID : 6306801036905
Option 3 ID : 6306801036904
Option 4 ID : 6306801036903

Q.14 Select the most appropriate antonym of the given word to fill in the blank.

TRIVIAL

Appearing in the interview is ________ for her as her whole career depends on it.

Ans 1. irrelevant

2. incidental

3. important

4. immaterial

Question ID : 630680266875
Option 1 ID : 6306801036913
Option 2 ID : 6306801036914
Option 3 ID : 6306801036912
Option 4 ID : 6306801036911
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Q.15 Select the most appropriate option to fill in the blanks.

Bamboos are one _______ the fastest-growing plants on Earth. However, the growth rate is
_______ on local soil and climatic conditions. 

Ans 1. of, dependent

2. to, influenced

3. at, needed

4. in, affected

Question ID : 630680266871
Option 1 ID : 6306801036896
Option 2 ID : 6306801036895
Option 3 ID : 6306801036898
Option 4 ID : 6306801036897

Comprehension:

Read the following passage and answer the questions given after it.

The US Fish and Wildlife Service (USFWS) reported on Thursday that Wisdom, the world’s
oldest surviving bird, has returned to its nest site in Midway Atoll National Wildlife Refuge. The
wildlife authorities claimed on Twitter that the Laysan albatross is at least 71 years old. The
enormous seabird, which was last seen on Thanks Giving, has repeatedly shown up at the
same nesting location in the North Pacific for decades.
USFWS took to their Twitter handle and informed the bird’s return with a tweet that read,
“Wisdom, the world’s oldest known wild bird, recently returned to Midway Atoll! The beloved
Laysan albatross, or Moli, is at least 71 years old. Biologists first identified and banded
Wisdom in 1956 after she laid an egg, and the large seabirds aren’t known to breed before age
5.”

SubQuestion No : 16

Q.16 The above passage is:

Ans 1. a news report

2. a Twitter message

3. a press release from USFWS

4. a magazine article

Question ID : 630680266878
Option 1 ID : 6306801036921
Option 2 ID : 6306801036920
Option 3 ID : 6306801036922
Option 4 ID : 6306801036919
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Comprehension:

Read the following passage and answer the questions given after it.

The US Fish and Wildlife Service (USFWS) reported on Thursday that Wisdom, the world’s
oldest surviving bird, has returned to its nest site in Midway Atoll National Wildlife Refuge. The
wildlife authorities claimed on Twitter that the Laysan albatross is at least 71 years old. The
enormous seabird, which was last seen on Thanks Giving, has repeatedly shown up at the
same nesting location in the North Pacific for decades.
USFWS took to their Twitter handle and informed the bird’s return with a tweet that read,
“Wisdom, the world’s oldest known wild bird, recently returned to Midway Atoll! The beloved
Laysan albatross, or Moli, is at least 71 years old. Biologists first identified and banded
Wisdom in 1956 after she laid an egg, and the large seabirds aren’t known to breed before age
5.”

SubQuestion No : 17

Q.17 The pet name of the oldest surviving bird is:

Ans 1. Wisdom

2. Laysan

3. Twitter

4. Moli

Question ID : 630680266882
Option 1 ID : 6306801036935
Option 2 ID : 6306801036937
Option 3 ID : 6306801036936
Option 4 ID : 6306801036938

Comprehension:

Read the following passage and answer the questions given after it.

The US Fish and Wildlife Service (USFWS) reported on Thursday that Wisdom, the world’s
oldest surviving bird, has returned to its nest site in Midway Atoll National Wildlife Refuge. The
wildlife authorities claimed on Twitter that the Laysan albatross is at least 71 years old. The
enormous seabird, which was last seen on Thanks Giving, has repeatedly shown up at the
same nesting location in the North Pacific for decades.
USFWS took to their Twitter handle and informed the bird’s return with a tweet that read,
“Wisdom, the world’s oldest known wild bird, recently returned to Midway Atoll! The beloved
Laysan albatross, or Moli, is at least 71 years old. Biologists first identified and banded
Wisdom in 1956 after she laid an egg, and the large seabirds aren’t known to breed before age
5.”

SubQuestion No : 18

Q.18 “This made my day!!!” this expression indicates that the speaker:

Ans 1. is disappointed to hear a sad news

2. is feeling very happy to hear the news

3. is worried about his/her day

4. is expecting a great news

Question ID : 630680266880
Option 1 ID : 6306801036930
Option 2 ID : 6306801036928
Option 3 ID : 6306801036927
Option 4 ID : 6306801036929
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Comprehension:

Read the following passage and answer the questions given after it.

The US Fish and Wildlife Service (USFWS) reported on Thursday that Wisdom, the world’s
oldest surviving bird, has returned to its nest site in Midway Atoll National Wildlife Refuge. The
wildlife authorities claimed on Twitter that the Laysan albatross is at least 71 years old. The
enormous seabird, which was last seen on Thanks Giving, has repeatedly shown up at the
same nesting location in the North Pacific for decades.
USFWS took to their Twitter handle and informed the bird’s return with a tweet that read,
“Wisdom, the world’s oldest known wild bird, recently returned to Midway Atoll! The beloved
Laysan albatross, or Moli, is at least 71 years old. Biologists first identified and banded
Wisdom in 1956 after she laid an egg, and the large seabirds aren’t known to breed before age
5.”

SubQuestion No : 19

Q.19 The overall tone of the passage is:

Ans 1. sarcastic

2. humorous

3. nostalgic

4. jovial

Question ID : 630680266881
Option 1 ID : 6306801036931
Option 2 ID : 6306801036932
Option 3 ID : 6306801036933
Option 4 ID : 6306801036934

Comprehension:

Read the following passage and answer the questions given after it.

The US Fish and Wildlife Service (USFWS) reported on Thursday that Wisdom, the world’s
oldest surviving bird, has returned to its nest site in Midway Atoll National Wildlife Refuge. The
wildlife authorities claimed on Twitter that the Laysan albatross is at least 71 years old. The
enormous seabird, which was last seen on Thanks Giving, has repeatedly shown up at the
same nesting location in the North Pacific for decades.
USFWS took to their Twitter handle and informed the bird’s return with a tweet that read,
“Wisdom, the world’s oldest known wild bird, recently returned to Midway Atoll! The beloved
Laysan albatross, or Moli, is at least 71 years old. Biologists first identified and banded
Wisdom in 1956 after she laid an egg, and the large seabirds aren’t known to breed before age
5.”

SubQuestion No : 20

Q.20 The central theme of the passage is:

Ans 1. Wisdom, the oldest bird in the world

2. Wisdom and her chicks

3. Wisdom becoming a grandmother

4. return of Wisdom to her old nesting site

Question ID : 630680266879
Option 1 ID : 6306801036923
Option 2 ID : 6306801036926
Option 3 ID : 6306801036925
Option 4 ID : 6306801036924

Section : Test of Hindi Language and Comprehension
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Q.1 कैंकैं सर एक ___________ हैहै। वावाक्य केके  रिरिक्त स्थास्थान केके  लिलिए उपयुयुक्त शब्द हैहै?

Ans 1. व्याव्याधिधि

2. व्यथाथा

3. आधिधि

4. विविषाषाद

Question ID : 630680266887
Option 1 ID : 6306801036956
Option 2 ID : 6306801036957
Option 3 ID : 6306801036955
Option 4 ID : 6306801036958

Q.2 जोजो __________ करताता हैहै, उसकाका नानाश होहो जाजाताता हैहै। वावाक्य केके  रिरिक्त स्थास्थान केके  लिलिए उपयुयुक्त शब्द हैहै-

Ans 1. अभिभिमामान

2. गर्वर्व

3. घमंमंड

4. गौगौरव

Question ID : 630680266885
Option 1 ID : 6306801036947
Option 2 ID : 6306801036948
Option 3 ID : 6306801036950
Option 4 ID : 6306801036949

Q.3 पदक्रम कीकी दृष्टिष्टि सेसे कौकौन सासा वावाक्य सहीही हैहै?

Ans 1. मेमेरारा अच्छाच्छा दोदोस्त नानाराराज हैहै मुमुझसेसे।

2. मेमेरारा अच्छाच्छा दोदोस्त मुमुझसेसे नानाराराज हैहै।

3. मुमुझसेसे नानाराराज हैहै मेमेरारा अच्छाच्छा दोदोस्त।

4. मेमेरारा दोदोस्त अच्छाच्छा मुमुझसेसे नानाराराज हैहै।

Question ID : 630680266884
Option 1 ID : 6306801036943
Option 2 ID : 6306801036944
Option 3 ID : 6306801036946
Option 4 ID : 6306801036945

Q.4 भविविष्य मेंमें होहोनेने वावालाला आयोयोजन इसकीकी दशाशा तय करेरेगागा। वावाक्य केके  रेरेखांखांखांकिकित अंअंश कोको किकिस शब्द सेसे प्रतितिस्थास्थापिपित
किकियाया जाजा सकताता हैहै?

Ans 1. गत

2. विविगत

3. भाभावीवी

4. भूभूत

Question ID : 630680266889
Option 1 ID : 6306801036965
Option 2 ID : 6306801036966
Option 3 ID : 6306801036964
Option 4 ID : 6306801036963
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Q.5 कभीभी – कभीभी ऐसासा होहोताता हैहै किकि दोदोष किकिसीसी काका, दंदंड किकिसीसी और कोको। वावाक्य केके  रेरेखांखांखांकिकित अंअंश कोको प्रतितिस्थास्थापिपित करनेने
केके  लिलिए उचिचित लोलोकोकोक्तिक्ति कौकौन सीसी हैहै?

Ans 1. खेखेल खिखिलालाड़ीड़ी काका, पैपैसासा मदादारीरी काका

2. खेखेतीती खसम लेलेतीती

3. खेखेत खाखाए गदहाहा, मामार खाखाए जुजुलालाहाहा

4. खुखुदादा गंगंजेजे कोको नानाखूखून न देदे

Question ID : 630680266895
Option 1 ID : 6306801036989
Option 2 ID : 6306801036987
Option 3 ID : 6306801036988
Option 4 ID : 6306801036990

Q.6 ‘पुपुरस्काकार’ काका सहीही संसंधिधि विविच्छेच्छेद कौकौन सासा हैहै?

Ans 1. पुपुरारा + काकार

2. पुपुरारा: + काकार

3. पुपुर: + काकार

4. पुपुर + काकार

Question ID : 630680266893
Option 1 ID : 6306801036980
Option 2 ID : 6306801036982
Option 3 ID : 6306801036981
Option 4 ID : 6306801036979

Q.7 ‘उद्यम’ काका विविलोलोम शब्द क्याया होहोगागा?

Ans 1. उद्यत

2. उद्धत

3. उद्यमीमी

4. आलस्य

Question ID : 630680266897
Option 1 ID : 6306801036995
Option 2 ID : 6306801036997
Option 3 ID : 6306801036996
Option 4 ID : 6306801036998

Q.8 अंअंकिकित नेने _________ भोभोजन किकियाया। वावाक्य केके  रिरिक्त स्थास्थान कोको पूपूर्वर्वकाकालिलिक क्रिक्रियाया सेसे पूपूर्णर्ण करेंरें।

Ans 1. उत्तम

2. नहाहाकर

3. स्वावादिदिष्ट

4. संसंतुतुलिलित

Question ID : 630680266892
Option 1 ID : 6306801036978
Option 2 ID : 6306801036976
Option 3 ID : 6306801036977
Option 4 ID : 6306801036975
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Q.9 ‘रुधिधिर’ किकिसकाका पर्यार्यार्याय हैहै?

Ans 1. पापानीनी

2. कमल

3. क्रोक्रोध

4. खूखून

Question ID : 630680266896
Option 1 ID : 6306801036994
Option 2 ID : 6306801036992
Option 3 ID : 6306801036991
Option 4 ID : 6306801036993

Q.10 पदक्रम कीकी दृष्टिष्टि सेसे कौकौन सासा वावाक्य सहीही हैहै?

Ans 1. तुतुम्हाहारारा जन्म मुमुझेझे बताताओ किकि कब हुआ थाथा।

2. मुमुझेझे बताताओ किकि कब हुआ थाथा तुतुम्हाहारारा जन्म।

3. किकि कब हुआ थाथा तुतुम्हाहारारा जन्म मुमुझेझे बताताओ।

4. मुमुझेझे बताताओ किकि तुतुम्हाहारारा जन्म कब हुआ थाथा।

Question ID : 630680266883
Option 1 ID : 6306801036942
Option 2 ID : 6306801036940
Option 3 ID : 6306801036941
Option 4 ID : 6306801036939

Q.11 गिगिरारा हुआ व्यक्तिक्ति उन्नतिति नहींहीं कर सकताता। वावाक्य केके  रेरेखांखांखांकिकित अंअंश कोको किकिस शब्द सेसे प्रतितिस्थास्थापिपित किकियाया जाजा सकताता
हैहै?

Ans 1. शराराबीबी

2. अधम

3. चंचंचल

4. पतितित

Question ID : 630680266890
Option 1 ID : 6306801036968
Option 2 ID : 6306801036967
Option 3 ID : 6306801036970
Option 4 ID : 6306801036969

Q.12 ______! क्याया शाशानदादार मैमैच हुआ। वावाक्य केके  रिरिक्त स्थास्थान कोको आश्चर्यर्यबोबोधक विविस्मयायादिदिबोबोधक सेसे पूपूर्णर्ण करेंरें।

Ans 1. अहाहा

2. वावाह-वावाह

3. वावाह

4. आह

Question ID : 630680266891
Option 1 ID : 6306801036974
Option 2 ID : 6306801036972
Option 3 ID : 6306801036971
Option 4 ID : 6306801036973

https://applink.adda247.com/d/XhqWf9lSap
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Q.13 अनपढ़ लोलोग अंअंधाधानुनुकरण करतेते हैंहैं। वावाक्य केके  रेरेखांखांखांकिकित अंअंश कोको प्रतितिस्थास्थापिपित करनेने केके  लिलिए उचिचित मुमुहाहावरारा कौकौन
सासा हैहै?

Ans 1. बहेहेलिलियाया धसासान

2. भेभेड़िड़ियाया धसासान

3. भेभेड़िड़ियाया मसासान

4. बहेहेलिलियाया मसासान

Question ID : 630680266894
Option 1 ID : 6306801036984
Option 2 ID : 6306801036986
Option 3 ID : 6306801036985
Option 4 ID : 6306801036983

Q.14 दौदौड़ मेंमें ________ करनाना बुबुरारा नहींहीं। वावाक्य केके  रिरिक्त स्थास्थान केके  लिलिए उपयुयुक्त शब्द हैहै:

Ans 1. ईर्ष्यार्ष्यार्ष्यार्ष्या

2. द्वेद्वेष

3. स्पर्द्धार्द्धार्द्धा

4. घृघृणाणा

Question ID : 630680266888
Option 1 ID : 6306801036959
Option 2 ID : 6306801036961
Option 3 ID : 6306801036962
Option 4 ID : 6306801036960

Q.15 रमेमेश कोको गरीरीब पर _______ आ गई। वावाक्य केके  रिरिक्त स्थास्थान केके  लिलिए उपयुयुक्त शब्द हैहै-

Ans 1. अनुनुकंकं पापा

2. दयाया

3. कृकृ पापा

4. क्षमामा

Question ID : 630680266886
Option 1 ID : 6306801036952
Option 2 ID : 6306801036953
Option 3 ID : 6306801036951
Option 4 ID : 6306801036954

https://applink.adda247.com/d/XhqWf9lSap
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Comprehension:

उपरोरोक्त गद्यांद्यांद्यांश केके  आधाधार पर निनिम्नलिलिखिखित प्रश्नोंश्नों केके  उत्तर दीदीजिजिए-

वैवैदिदिक सासाहिहित्य कीकी रचनाना अनेनेक शताताब्दिब्दिब्दियोंयों मेंमें हुई थीथी। इस काकारण इस सासारेरे सासाहिहित्य मेंमें वैवैदिदिक धर्मर्म कीकी एकरूपताता केके  स्थास्थान
पर समय केके  सासाथ इसमेंमें परिरिवर्तर्तन दृष्टिष्टिगोगोचर होहोताता हैहै। स्वयंयं ऋग्वेवेद मेंमें हीही कहींहीं पर एकेके श्वरवावाद कीकी चर्चार्चार्चा कीकी गई हैहै, कहींहीं
बहुदेदेववावाद कीकी, और कहींहीं सर्वेर्वेश्वरवावाद कीकी। वैवैदिदिक धर्मर्म कीकी सर्वर्वप्रमुमुख विविशेशेषताता हैहै उसकाका व्याव्यावहाहारिरिक तथाथा उपयोयोगिगितातावावादीदी
स्वरूप। ऋग्वेवेद आदिदि वेवेदोंदों केके  मंमंत्र यज्ञ केके  अवसर पर उच्चाच्चारिरित किकियेये जाजातेते थेथे। पुपुरोरोहिहित मंमंत्रोंत्रों केके  उच्चाच्चारण केके  सासाथ सोसोम अथवावा
घीघी कीकी आहुतिति डाडालताता थाथा। देदेवताताओं कीकी तुतुष्टिष्टि केके  लिलियेये किकियेये इस काकार्यर्य केके  बदलेले मेंमें देदेवताताओं सेसे विविभिभिन्न प्रकाकार केके  लालाभ जैजैसेसे
दीदीर्घार्घार्घायुयु, समृमृद्धिद्धि, विविजय, वीवीरपुपुत्र, पशुशु, विविभिभिन्न प्रकाकार केके  भौभौतितिक सुसुख इत्यायादिदि कीकी प्राप्राप्तिप्तिप्ति कीकी अपेपेक्षाक्षा कीकी जाजातीती थीथी। वैवैदिदिक धर्मर्म
पूपूर्णर्णतःतः प्रवृवृत्तित्तिमामार्गीर्गी हैहै। आरम्भिम्भिक वैवैदिदिक सासाहिहित्य मेंमें अमृमृतत्व तथाथा स्वर्गर्ग कीकी काकामनाना केके  संसंदर्भर्भ अल्प हैंहैं। मंमंत्रोत्रोच्चाच्चार तथाथा यज्ञ काका
मुमुख्य उद्देद्देश्य सांसांसांसासारिरिक लालाभोंभों कीकी प्राप्राप्तिप्तिप्ति तक हीही सीसीमिमित प्रतीतीत होहोताता हैहै।

SubQuestion No : 16

Q.16 ऋग्वेवेद मेंमें किकिसकाका वर्णर्णन हैहै:

Ans 1. एकेके श्वरवावाद

2. एकेके श्वरवावाद, बहुदेदेववावाद, सर्वेर्वेश्वरवावाद तीतीनोंनों काका

3. सर्वेर्वेश्वरवावाद

4. बहुदेदेववावाद

Question ID : 630680266901
Option 1 ID : 6306801037007
Option 2 ID : 6306801037010
Option 3 ID : 6306801037009
Option 4 ID : 6306801037008

Comprehension:

उपरोरोक्त गद्यांद्यांद्यांश केके  आधाधार पर निनिम्नलिलिखिखित प्रश्नोंश्नों केके  उत्तर दीदीजिजिए-

वैवैदिदिक सासाहिहित्य कीकी रचनाना अनेनेक शताताब्दिब्दिब्दियोंयों मेंमें हुई थीथी। इस काकारण इस सासारेरे सासाहिहित्य मेंमें वैवैदिदिक धर्मर्म कीकी एकरूपताता केके  स्थास्थान
पर समय केके  सासाथ इसमेंमें परिरिवर्तर्तन दृष्टिष्टिगोगोचर होहोताता हैहै। स्वयंयं ऋग्वेवेद मेंमें हीही कहींहीं पर एकेके श्वरवावाद कीकी चर्चार्चार्चा कीकी गई हैहै, कहींहीं
बहुदेदेववावाद कीकी, और कहींहीं सर्वेर्वेश्वरवावाद कीकी। वैवैदिदिक धर्मर्म कीकी सर्वर्वप्रमुमुख विविशेशेषताता हैहै उसकाका व्याव्यावहाहारिरिक तथाथा उपयोयोगिगितातावावादीदी
स्वरूप। ऋग्वेवेद आदिदि वेवेदोंदों केके  मंमंत्र यज्ञ केके  अवसर पर उच्चाच्चारिरित किकियेये जाजातेते थेथे। पुपुरोरोहिहित मंमंत्रोंत्रों केके  उच्चाच्चारण केके  सासाथ सोसोम अथवावा
घीघी कीकी आहुतिति डाडालताता थाथा। देदेवताताओं कीकी तुतुष्टिष्टि केके  लिलियेये किकियेये इस काकार्यर्य केके  बदलेले मेंमें देदेवताताओं सेसे विविभिभिन्न प्रकाकार केके  लालाभ जैजैसेसे
दीदीर्घार्घार्घायुयु, समृमृद्धिद्धि, विविजय, वीवीरपुपुत्र, पशुशु, विविभिभिन्न प्रकाकार केके  भौभौतितिक सुसुख इत्यायादिदि कीकी प्राप्राप्तिप्तिप्ति कीकी अपेपेक्षाक्षा कीकी जाजातीती थीथी। वैवैदिदिक धर्मर्म
पूपूर्णर्णतःतः प्रवृवृत्तित्तिमामार्गीर्गी हैहै। आरम्भिम्भिक वैवैदिदिक सासाहिहित्य मेंमें अमृमृतत्व तथाथा स्वर्गर्ग कीकी काकामनाना केके  संसंदर्भर्भ अल्प हैंहैं। मंमंत्रोत्रोच्चाच्चार तथाथा यज्ञ काका
मुमुख्य उद्देद्देश्य सांसांसांसासारिरिक लालाभोंभों कीकी प्राप्राप्तिप्तिप्ति तक हीही सीसीमिमित प्रतीतीत होहोताता हैहै।

SubQuestion No : 17

Q.17 ‘अल्प’ काका विविलोलोम शब्द क्याया होहोगागा?

Ans 1. हीहीन

2. गल्प

3. अत्यल्प

4. प्रचुचुर

Question ID : 630680266900
Option 1 ID : 6306801037006
Option 2 ID : 6306801037005
Option 3 ID : 6306801037003
Option 4 ID : 6306801037004

https://applink.adda247.com/d/XhqWf9lSap
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Comprehension:

उपरोरोक्त गद्यांद्यांद्यांश केके  आधाधार पर निनिम्नलिलिखिखित प्रश्नोंश्नों केके  उत्तर दीदीजिजिए-

वैवैदिदिक सासाहिहित्य कीकी रचनाना अनेनेक शताताब्दिब्दिब्दियोंयों मेंमें हुई थीथी। इस काकारण इस सासारेरे सासाहिहित्य मेंमें वैवैदिदिक धर्मर्म कीकी एकरूपताता केके  स्थास्थान
पर समय केके  सासाथ इसमेंमें परिरिवर्तर्तन दृष्टिष्टिगोगोचर होहोताता हैहै। स्वयंयं ऋग्वेवेद मेंमें हीही कहींहीं पर एकेके श्वरवावाद कीकी चर्चार्चार्चा कीकी गई हैहै, कहींहीं
बहुदेदेववावाद कीकी, और कहींहीं सर्वेर्वेश्वरवावाद कीकी। वैवैदिदिक धर्मर्म कीकी सर्वर्वप्रमुमुख विविशेशेषताता हैहै उसकाका व्याव्यावहाहारिरिक तथाथा उपयोयोगिगितातावावादीदी
स्वरूप। ऋग्वेवेद आदिदि वेवेदोंदों केके  मंमंत्र यज्ञ केके  अवसर पर उच्चाच्चारिरित किकियेये जाजातेते थेथे। पुपुरोरोहिहित मंमंत्रोंत्रों केके  उच्चाच्चारण केके  सासाथ सोसोम अथवावा
घीघी कीकी आहुतिति डाडालताता थाथा। देदेवताताओं कीकी तुतुष्टिष्टि केके  लिलियेये किकियेये इस काकार्यर्य केके  बदलेले मेंमें देदेवताताओं सेसे विविभिभिन्न प्रकाकार केके  लालाभ जैजैसेसे
दीदीर्घार्घार्घायुयु, समृमृद्धिद्धि, विविजय, वीवीरपुपुत्र, पशुशु, विविभिभिन्न प्रकाकार केके  भौभौतितिक सुसुख इत्यायादिदि कीकी प्राप्राप्तिप्तिप्ति कीकी अपेपेक्षाक्षा कीकी जाजातीती थीथी। वैवैदिदिक धर्मर्म
पूपूर्णर्णतःतः प्रवृवृत्तित्तिमामार्गीर्गी हैहै। आरम्भिम्भिक वैवैदिदिक सासाहिहित्य मेंमें अमृमृतत्व तथाथा स्वर्गर्ग कीकी काकामनाना केके  संसंदर्भर्भ अल्प हैंहैं। मंमंत्रोत्रोच्चाच्चार तथाथा यज्ञ काका
मुमुख्य उद्देद्देश्य सांसांसांसासारिरिक लालाभोंभों कीकी प्राप्राप्तिप्तिप्ति तक हीही सीसीमिमित प्रतीतीत होहोताता हैहै।

SubQuestion No : 18

Q.18 ‘आहुतिति’ काका पर्यार्यार्यायवावाचीची शब्द कौकौन सासा हैहै?

Ans 1. अंअंश

2. मिमिष्टाष्टान्न

3. भंभंडाडार

4. बलिलिदादान

Question ID : 630680266899
Option 1 ID : 6306801037002
Option 2 ID : 6306801037000
Option 3 ID : 6306801036999
Option 4 ID : 6306801037001

Comprehension:

उपरोरोक्त गद्यांद्यांद्यांश केके  आधाधार पर निनिम्नलिलिखिखित प्रश्नोंश्नों केके  उत्तर दीदीजिजिए-

वैवैदिदिक सासाहिहित्य कीकी रचनाना अनेनेक शताताब्दिब्दिब्दियोंयों मेंमें हुई थीथी। इस काकारण इस सासारेरे सासाहिहित्य मेंमें वैवैदिदिक धर्मर्म कीकी एकरूपताता केके  स्थास्थान
पर समय केके  सासाथ इसमेंमें परिरिवर्तर्तन दृष्टिष्टिगोगोचर होहोताता हैहै। स्वयंयं ऋग्वेवेद मेंमें हीही कहींहीं पर एकेके श्वरवावाद कीकी चर्चार्चार्चा कीकी गई हैहै, कहींहीं
बहुदेदेववावाद कीकी, और कहींहीं सर्वेर्वेश्वरवावाद कीकी। वैवैदिदिक धर्मर्म कीकी सर्वर्वप्रमुमुख विविशेशेषताता हैहै उसकाका व्याव्यावहाहारिरिक तथाथा उपयोयोगिगितातावावादीदी
स्वरूप। ऋग्वेवेद आदिदि वेवेदोंदों केके  मंमंत्र यज्ञ केके  अवसर पर उच्चाच्चारिरित किकियेये जाजातेते थेथे। पुपुरोरोहिहित मंमंत्रोंत्रों केके  उच्चाच्चारण केके  सासाथ सोसोम अथवावा
घीघी कीकी आहुतिति डाडालताता थाथा। देदेवताताओं कीकी तुतुष्टिष्टि केके  लिलियेये किकियेये इस काकार्यर्य केके  बदलेले मेंमें देदेवताताओं सेसे विविभिभिन्न प्रकाकार केके  लालाभ जैजैसेसे
दीदीर्घार्घार्घायुयु, समृमृद्धिद्धि, विविजय, वीवीरपुपुत्र, पशुशु, विविभिभिन्न प्रकाकार केके  भौभौतितिक सुसुख इत्यायादिदि कीकी प्राप्राप्तिप्तिप्ति कीकी अपेपेक्षाक्षा कीकी जाजातीती थीथी। वैवैदिदिक धर्मर्म
पूपूर्णर्णतःतः प्रवृवृत्तित्तिमामार्गीर्गी हैहै। आरम्भिम्भिक वैवैदिदिक सासाहिहित्य मेंमें अमृमृतत्व तथाथा स्वर्गर्ग कीकी काकामनाना केके  संसंदर्भर्भ अल्प हैंहैं। मंमंत्रोत्रोच्चाच्चार तथाथा यज्ञ काका
मुमुख्य उद्देद्देश्य सांसांसांसासारिरिक लालाभोंभों कीकी प्राप्राप्तिप्तिप्ति तक हीही सीसीमिमित प्रतीतीत होहोताता हैहै।

SubQuestion No : 19

Q.19 गद्यांद्यांद्यांश काका सर्वार्वार्वाधिधिक उपयुयुक्त शीशीर्षर्षक कौकौन सासा हैहै?

Ans 1. वैवैदिदिक धर्मर्म

2. वैवैदिदिक जीजीवन

3. वैवैदिदिक संसंस्कृकृ तिति

4. वैवैदिदिक समामाज

Question ID : 630680266903
Option 1 ID : 6306801037018
Option 2 ID : 6306801037015
Option 3 ID : 6306801037017
Option 4 ID : 6306801037016
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Comprehension:

उपरोरोक्त गद्यांद्यांद्यांश केके  आधाधार पर निनिम्नलिलिखिखित प्रश्नोंश्नों केके  उत्तर दीदीजिजिए-

वैवैदिदिक सासाहिहित्य कीकी रचनाना अनेनेक शताताब्दिब्दिब्दियोंयों मेंमें हुई थीथी। इस काकारण इस सासारेरे सासाहिहित्य मेंमें वैवैदिदिक धर्मर्म कीकी एकरूपताता केके  स्थास्थान
पर समय केके  सासाथ इसमेंमें परिरिवर्तर्तन दृष्टिष्टिगोगोचर होहोताता हैहै। स्वयंयं ऋग्वेवेद मेंमें हीही कहींहीं पर एकेके श्वरवावाद कीकी चर्चार्चार्चा कीकी गई हैहै, कहींहीं
बहुदेदेववावाद कीकी, और कहींहीं सर्वेर्वेश्वरवावाद कीकी। वैवैदिदिक धर्मर्म कीकी सर्वर्वप्रमुमुख विविशेशेषताता हैहै उसकाका व्याव्यावहाहारिरिक तथाथा उपयोयोगिगितातावावादीदी
स्वरूप। ऋग्वेवेद आदिदि वेवेदोंदों केके  मंमंत्र यज्ञ केके  अवसर पर उच्चाच्चारिरित किकियेये जाजातेते थेथे। पुपुरोरोहिहित मंमंत्रोंत्रों केके  उच्चाच्चारण केके  सासाथ सोसोम अथवावा
घीघी कीकी आहुतिति डाडालताता थाथा। देदेवताताओं कीकी तुतुष्टिष्टि केके  लिलियेये किकियेये इस काकार्यर्य केके  बदलेले मेंमें देदेवताताओं सेसे विविभिभिन्न प्रकाकार केके  लालाभ जैजैसेसे
दीदीर्घार्घार्घायुयु, समृमृद्धिद्धि, विविजय, वीवीरपुपुत्र, पशुशु, विविभिभिन्न प्रकाकार केके  भौभौतितिक सुसुख इत्यायादिदि कीकी प्राप्राप्तिप्तिप्ति कीकी अपेपेक्षाक्षा कीकी जाजातीती थीथी। वैवैदिदिक धर्मर्म
पूपूर्णर्णतःतः प्रवृवृत्तित्तिमामार्गीर्गी हैहै। आरम्भिम्भिक वैवैदिदिक सासाहिहित्य मेंमें अमृमृतत्व तथाथा स्वर्गर्ग कीकी काकामनाना केके  संसंदर्भर्भ अल्प हैंहैं। मंमंत्रोत्रोच्चाच्चार तथाथा यज्ञ काका
मुमुख्य उद्देद्देश्य सांसांसांसासारिरिक लालाभोंभों कीकी प्राप्राप्तिप्तिप्ति तक हीही सीसीमिमित प्रतीतीत होहोताता हैहै।

SubQuestion No : 20

Q.20 गद्यांद्यांद्यांश केके  संसंदर्भर्भ मेंमें कौकौन सासा कथन गलत हैहै?

Ans 1. वैवैदिदिक सासाहिहित्य मेंमें स्वर्गर्ग कीकी काकामनाना काका स्वर प्रमुमुख हैहै।

2. वैवैदिदिक धर्मर्म मूमूलतःतः प्रवृवृत्तित्तिमामार्गीर्गी हैहै।

3. वैवैदिदिक धर्मर्म काका व्याव्यावहाहारिरिक स्वरूप उसकीकी महत्वपूपूर्णर्ण विविशेशेषताता हैहै।

4. यज्ञोंज्ञों केके  अवसर पर वेवेदोंदों केके  मंमंत्रोंत्रों काका पापाठ होहोताता थाथा।

Question ID : 630680266902
Option 1 ID : 6306801037011
Option 2 ID : 6306801037013
Option 3 ID : 6306801037012
Option 4 ID : 6306801037014

Q.1 Who developed the five laws of library science?

Ans 1. A. Neelamegam

2. M. A. Gopinath

3. Ganesh Bhattacharya

4. S. R. Ranganathan

Question ID : 630680266905
Option 1 ID : 6306801037024
Option 2 ID : 6306801037026
Option 3 ID : 6306801037023
Option 4 ID : 6306801037025

Q.2 What does the leading section of main entry consist of, according to Classified Catalogue
Code (CCC)?

Ans 1. Statement of responsibility

2. Call number

3. Book number

4. Title of the book

Question ID : 630680266992
Option 1 ID : 6306801037372
Option 2 ID : 6306801037373
Option 3 ID : 6306801037374
Option 4 ID : 6306801037371

Section : Discipline1
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Q.3 User Profile means:

Ans 1. Statement on user information

2. List of library members

3. List of defaulters

4. List of users

Question ID : 630680266984
Option 1 ID : 6306801037342
Option 2 ID : 6306801037340
Option 3 ID : 6306801037341
Option 4 ID : 6306801037339

Q.4 What was the aim of setting up Wadia Committee in 1967?

Ans 1. To introduce new techniques of library trainings

2. To introduce new techniques of library services

3. To introduce library science course

4. To Develop college libraries

Question ID : 630680266914
Option 1 ID : 6306801037061
Option 2 ID : 6306801037060
Option 3 ID : 6306801037062
Option 4 ID : 6306801037059

Q.5 A collection of records is called:

Ans 1. Database

2. field

3. file

4. string

Question ID : 630680266943
Option 1 ID : 6306801037176
Option 2 ID : 6306801037178
Option 3 ID : 6306801037175
Option 4 ID : 6306801037177

Q.6 The second law of library science implies:

Ans 1. Library legislation

2. User education

3. Modern Library

4. Extension services

Question ID : 630680266908
Option 1 ID : 6306801037037
Option 2 ID : 6306801037038
Option 3 ID : 6306801037035
Option 4 ID : 6306801037036
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Q.7 Which of the following is a source for review of reference books?

Ans 1. Times Literary supplement

2. Book List

3. American Book Reference Annual

4. Publishers weekly

Question ID : 630680266982
Option 1 ID : 6306801037332
Option 2 ID : 6306801037331
Option 3 ID : 6306801037334
Option 4 ID : 6306801037333

Q.8 In library terms, ‘patrons’ is refers to ______.

Ans 1. Library book supplier

2. Library member

3. Library user

4. Library visitors

Question ID : 630680266938
Option 1 ID : 6306801037158
Option 2 ID : 6306801037156
Option 3 ID : 6306801037155
Option 4 ID : 6306801037157

Q.9 Common Communication Format (CCF) is a universal exchange format for use by agencies
within the information community which wish to exchange _____________ records with one
another.

Ans 1. cataloguing

2. full text

3. bibliographical

4. classification

Question ID : 630680266940
Option 1 ID : 6306801037164
Option 2 ID : 6306801037166
Option 3 ID : 6306801037163
Option 4 ID : 6306801037165

Q.10 Library Software Packages are an example of:

Ans 1. Utility Software

2. System Software

3. Operating Systems

4. Application Software

Question ID : 630680266942
Option 1 ID : 6306801037172
Option 2 ID : 6306801037173
Option 3 ID : 6306801037174
Option 4 ID : 6306801037171
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Q.11 SOUL is a:

Ans 1. Content Management System Software

2. E-Content Development Software

3. Digital Library Management Software

4. Library Integrated Management Software

Question ID : 630680266958
Option 1 ID : 6306801037237
Option 2 ID : 6306801037238
Option 3 ID : 6306801037236
Option 4 ID : 6306801037235

Q.12 In MARC, tag 245 is to used to enter:

Ans 1. Physical description

2. Subject headings

3. Title statement

4. Publisher information

Question ID : 630680266990
Option 1 ID : 6306801037366
Option 2 ID : 6306801037365
Option 3 ID : 6306801037364
Option 4 ID : 6306801037363

Q.13 Find odd one out from the following?

Ans 1. MS-Office

2. Linux

3. MS-DOS

4. Unix

Question ID : 630680266935
Option 1 ID : 6306801037146
Option 2 ID : 6306801037145
Option 3 ID : 6306801037143
Option 4 ID : 6306801037144

Q.14 Which of the following is NOT an element of planning?

Ans 1. Policies

2. Aims

3. Activities

4. Results

Question ID : 630680266964
Option 1 ID : 6306801037262
Option 2 ID : 6306801037259
Option 3 ID : 6306801037260
Option 4 ID : 6306801037261
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Q.15 Who developed `INDCAT` catalogue?

Ans 1. Alexandria Library

2. INFLIBNET

3. British Library

4. Library of Congress

Question ID : 630680267000
Option 1 ID : 6306801037406
Option 2 ID : 6306801037405
Option 3 ID : 6306801037404
Option 4 ID : 6306801037403

Q.16 Which library classification system uses ‘Standard Switching Language’?

Ans 1. UDC

2. CC

3. LC

4. DDC

Question ID : 630680266918
Option 1 ID : 6306801037076
Option 2 ID : 6306801037075
Option 3 ID : 6306801037078
Option 4 ID : 6306801037077

Q.17 WINISIS is:

Ans 1. Content Management System

2. Security system

3. Library Automation Software

4. Digital Library Software

Question ID : 630680266949
Option 1 ID : 6306801037200
Option 2 ID : 6306801037202
Option 3 ID : 6306801037199
Option 4 ID : 6306801037201

Q.18 Which one of the following is correct rendering of headings in CCC?

Ans 1. Sir Arthur Thomas Quiller-Couch

2. Arthur Thomas (Quiller-Couch)

3. QUILLEER-COUCH (Arthur Thomas)

4. Arthur Thomas, Quiller-Couch

Question ID : 630680266993
Option 1 ID : 6306801037375
Option 2 ID : 6306801037377
Option 3 ID : 6306801037376
Option 4 ID : 6306801037378
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Q.19 The Library of Congress Subject Headings is a _____________.

Ans 1. Abstract database

2. Indexing database

3. Controlled vocabulary

4. Dictionary

Question ID : 630680266998
Option 1 ID : 6306801037397
Option 2 ID : 6306801037398
Option 3 ID : 6306801037395
Option 4 ID : 6306801037396

Q.20 In colon classification “Method of Residue” is used to find ________ facet.

Ans 1. Matter

2. Energy

3. Time

4. Personality

Question ID : 630680266923
Option 1 ID : 6306801037098
Option 2 ID : 6306801037096
Option 3 ID : 6306801037097
Option 4 ID : 6306801037095

Q.1 What is the name of a web page address?

Ans 1. Domain

2. Web Directory

3. Uniform Resource Locator

4. Protocol

Question ID : 630680266951
Option 1 ID : 6306801037210
Option 2 ID : 6306801037207
Option 3 ID : 6306801037209
Option 4 ID : 6306801037208

Q.2 Visible index is a:

Ans 1. Bibliography card

2. Classification list

3. Reference manual

4. Catalogue Card

Question ID : 630680266989
Option 1 ID : 6306801037361
Option 2 ID : 6306801037360
Option 3 ID : 6306801037362
Option 4 ID : 6306801037359

Section : Discipline2
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Q.3 `Story telling` is comes under the service of:

Ans 1. Current awareness services

2. Marketing of information

3. Extension activities of library services

4. Reference services

Question ID : 630680266976
Option 1 ID : 6306801037310
Option 2 ID : 6306801037307
Option 3 ID : 6306801037308
Option 4 ID : 6306801037309

Q.4 Meta data means:

Ans 1. Datum

2. Datas

3. Micro data

4. Data about data

Question ID : 630680266941
Option 1 ID : 6306801037169
Option 2 ID : 6306801037168
Option 3 ID : 6306801037167
Option 4 ID : 6306801037170

Q.5 Pure subjects are obtained from:

Ans 1. Distillation

2. Cluster

3. Lamination

4. Fission

Question ID : 630680266920
Option 1 ID : 6306801037085
Option 2 ID : 6306801037086
Option 3 ID : 6306801037084
Option 4 ID : 6306801037083

Q.6 The call number consists of:

Ans 1. Class number and Book Number

2. Class number, Book Number, and Collection number

3. Class number, Book Number, Collection number, and Volume number

4. Class number and collection number

Question ID : 630680266927
Option 1 ID : 6306801037112
Option 2 ID : 6306801037113
Option 3 ID : 6306801037114
Option 4 ID : 6306801037111
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Q.7 Kardex is used for:

Ans 1. Audio and video entry

2. Periodical entry

3. Maps and atlases

4. Non book entry

Question ID : 630680266971
Option 1 ID : 6306801037288
Option 2 ID : 6306801037287
Option 3 ID : 6306801037289
Option 4 ID : 6306801037290

Q.8 Ratna Laxman Rao Award is given to:

Ans 1. Library Students

2. Women Professionals

3. Teachers

4. Male Professionals

Question ID : 630680266913
Option 1 ID : 6306801037058
Option 2 ID : 6306801037055
Option 3 ID : 6306801037057
Option 4 ID : 6306801037056

Q.9 In colon classification, the “PMEST” order is used to apply __________.

Ans 1. Main Classes

2. Canonical Classes

3. Sub Classes

4. Phase Relations

Question ID : 630680266930
Option 1 ID : 6306801037123
Option 2 ID : 6306801037124
Option 3 ID : 6306801037125
Option 4 ID : 6306801037126

Q.10 Who prepares user profile in the library?

Ans 1. Cataloguer

2. Technical Assistant

3. Library Assistant

4. Reference Librarian

Question ID : 630680266910
Option 1 ID : 6306801037043
Option 2 ID : 6306801037045
Option 3 ID : 6306801037046
Option 4 ID : 6306801037044
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Q.11 Which of the following is the correct format of an IP address?

Ans 1. 202-5-288-198

2. 172.16.130.25

3. 300.215.317-3

4. 202/50/20/148

Question ID : 630680266950
Option 1 ID : 6306801037206
Option 2 ID : 6306801037204
Option 3 ID : 6306801037203
Option 4 ID : 6306801037205

Q.12 Shelf list is useful for:

Ans 1. Documentation

2. Stock verification

3. Weeding out

4. Classification

Question ID : 630680266937
Option 1 ID : 6306801037154
Option 2 ID : 6306801037153
Option 3 ID : 6306801037152
Option 4 ID : 6306801037151

Q.13 Stock verification can be done by using this ______ module.

Ans 1. Serial

2. Technical

3. Acquisition

4. Circulation

Question ID : 630680266974
Option 1 ID : 6306801037301
Option 2 ID : 6306801037302
Option 3 ID : 6306801037300
Option 4 ID : 6306801037299

Q.14 The high growth of information is known as:

Ans 1. Explosion

2. Information explosion

3. Information growth

4. Information collation

Question ID : 630680266980
Option 1 ID : 6306801037324
Option 2 ID : 6306801037325
Option 3 ID : 6306801037323
Option 4 ID : 6306801037326
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Q.15 Classification of items according to size and colour is called ______.

Ans 1. Natural classification

2. Logical classification

3. Artificial classification

4. Library classification

Question ID : 630680266917
Option 1 ID : 6306801037071
Option 2 ID : 6306801037074
Option 3 ID : 6306801037073
Option 4 ID : 6306801037072

Q.16 How should ‘Government of India Planning Commission’ be rendered in Classified
Catalogue Code (CCC)?

Ans 1. India, Planning (Commission)

2. Planning Commission – India

3. Government – India (Planning Commission)

4. Indian Government – Planning Commission

Question ID : 630680266994
Option 1 ID : 6306801037381
Option 2 ID : 6306801037380
Option 3 ID : 6306801037379
Option 4 ID : 6306801037382

Q.17 Infoseek is a popular ______.

Ans 1. Browser

2. Search engine

3. Website

4. Gateway

Question ID : 630680266960
Option 1 ID : 6306801037245
Option 2 ID : 6306801037244
Option 3 ID : 6306801037246
Option 4 ID : 6306801037243

Q.18 In colon classification, the notation ‘2’ in the space isolate is allotted to__________.

Ans 1. India

2. Mother Country

3. Favored Country

4. World

Question ID : 630680266924
Option 1 ID : 6306801037101
Option 2 ID : 6306801037100
Option 3 ID : 6306801037102
Option 4 ID : 6306801037099
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Q.19 Which of the following is a geographical device?

Ans 1. V44

2. P44

3. V44-56

4. J381B

Question ID : 630680266925
Option 1 ID : 6306801037103
Option 2 ID : 6306801037104
Option 3 ID : 6306801037106
Option 4 ID : 6306801037105

Q.20 The cross-reference index entry is used to make an entry for:

Ans 1. Translator

2. compiler

3. editor

4. Pseudonym – real name entry

Question ID : 630680266995
Option 1 ID : 6306801037385
Option 2 ID : 6306801037384
Option 3 ID : 6306801037383
Option 4 ID : 6306801037386

Q.1 Automation means:

Ans 1. Assisting or replacing humans with machines

2. Control by electronic power

3. Controlling workers with machines

4. Control by electrical power

Question ID : 630680266936
Option 1 ID : 6306801037147
Option 2 ID : 6306801037149
Option 3 ID : 6306801037148
Option 4 ID : 6306801037150

Q.2 Which data structure is used in Hierarchical model records?

Ans 1. Graph

2. Linked List

3. Tree

4. Stacks

Question ID : 630680266945
Option 1 ID : 6306801037183
Option 2 ID : 6306801037186
Option 3 ID : 6306801037185
Option 4 ID : 6306801037184

Section : Discipline3
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Q.3 How many levels are there in architecture of database?

Ans 1. Five

2. Seven

3. Two

4. Three

Question ID : 630680266944
Option 1 ID : 6306801037181
Option 2 ID : 6306801037182
Option 3 ID : 6306801037179
Option 4 ID : 6306801037180

Q.4 Genesis G4 is used for/as:

Ans 1. Library Management system

2. Web-catalogue of newspaper clippings

3. Library Gate

4. Content Management System

Question ID : 630680266959
Option 1 ID : 6306801037241
Option 2 ID : 6306801037239
Option 3 ID : 6306801037242
Option 4 ID : 6306801037240

Q.5 What is a system?

Ans 1. Set of organization

2. Set of elements

3. Set of various interconnected components

4. Set of jobs and work

Question ID : 630680266965
Option 1 ID : 6306801037265
Option 2 ID : 6306801037263
Option 3 ID : 6306801037266
Option 4 ID : 6306801037264

Q.6 The complete bibliographic details in MARC are available in:

Ans 1. Record directing

2. Control field

3. Variable field

4. Leader

Question ID : 630680267002
Option 1 ID : 6306801037413
Option 2 ID : 6306801037414
Option 3 ID : 6306801037412
Option 4 ID : 6306801037411
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Q.7 Who developed the CDS/ISIS software package?

Ans 1. IFLA

2. UNESCO

3. UNISIST

4. ALA

Question ID : 630680266906
Option 1 ID : 6306801037028
Option 2 ID : 6306801037029
Option 3 ID : 6306801037030
Option 4 ID : 6306801037027

Q.8 Apache is a/an:

Ans 1. Antivirus software

2. Web server

3. Operating system

4. System software

Question ID : 630680266948
Option 1 ID : 6306801037196
Option 2 ID : 6306801037197
Option 3 ID : 6306801037198
Option 4 ID : 6306801037195

Q.9 Sear`s List of Subject Heading is ______ in nature.

Ans 1. Analytical

2. Enumerative

3. Descriptive

4. Classified

Question ID : 630680266999
Option 1 ID : 6306801037400
Option 2 ID : 6306801037401
Option 3 ID : 6306801037399
Option 4 ID : 6306801037402

Q.10 Which law of library science implies the weeding of un-useful books from the library?

Ans 1. Fourth law

2. Fifth law

3. Third law

4. Second law

Question ID : 630680266916
Option 1 ID : 6306801037069
Option 2 ID : 6306801037070
Option 3 ID : 6306801037067
Option 4 ID : 6306801037068
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Q.11 A relational database developer refers to a record as:

Ans 1. Tuple

2. Attribute

3. relation

4. String

Question ID : 630680266946
Option 1 ID : 6306801037188
Option 2 ID : 6306801037187
Option 3 ID : 6306801037189
Option 4 ID : 6306801037190

Q.12 Who developed “POSDCORB”?

Ans 1. Luther Gulick

2. Henri Fayol

3. Elton Mayo

4. Peter F. Drucker

Question ID : 630680266963
Option 1 ID : 6306801037256
Option 2 ID : 6306801037255
Option 3 ID : 6306801037258
Option 4 ID : 6306801037257

Q.13 Which one of the following tool is retrieve and display documents from the remote sites on
the internet?

Ans 1. Gopher

2. Google

3. VSNL

4. Yahoo

Question ID : 630680266961
Option 1 ID : 6306801037248
Option 2 ID : 6306801037249
Option 3 ID : 6306801037247
Option 4 ID : 6306801037250

Q.14 Which software was developed by UNESCO?

Ans 1. Dspace

2. Sanjay

3. CDS/ISIS

4. Librarian

Question ID : 630680266947
Option 1 ID : 6306801037194
Option 2 ID : 6306801037191
Option 3 ID : 6306801037193
Option 4 ID : 6306801037192
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Q.15 An example of an almost-faceted classification scheme is:

Ans 1. CC

2. LC

3. UDC

4. DDC

Question ID : 630680266931
Option 1 ID : 6306801037128
Option 2 ID : 6306801037130
Option 3 ID : 6306801037129
Option 4 ID : 6306801037127

Q.16 COMPENDEX is an indexing service of:

Ans 1. Physical sciences

2. Computer science

3. Engineering and technology

4. Chemical sciences

Question ID : 630680266985
Option 1 ID : 6306801037344
Option 2 ID : 6306801037345
Option 3 ID : 6306801037346
Option 4 ID : 6306801037343

Q.17 Scopus is a/an:

Ans 1. abstract & citation database

2. Indexing database

3. full-text database

4. numerical database

Question ID : 630680266952
Option 1 ID : 6306801037212
Option 2 ID : 6306801037214
Option 3 ID : 6306801037211
Option 4 ID : 6306801037213

Q.18 Reinforced binding means?

Ans 1. Strengthening a book by sewing

2. Strengthening a book by re-binding

3. Strengthening a book by replacing of book cover

4. Strengthening a book by adding some material

Question ID : 630680266975
Option 1 ID : 6306801037304
Option 2 ID : 6306801037303
Option 3 ID : 6306801037306
Option 4 ID : 6306801037305
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Q.19 What does BIOS stand for?

Ans 1. Basic input-output system

2. Basic input output service

3. Basic inbox outbox system

4. Between the input output system

Question ID : 630680266933
Option 1 ID : 6306801037135
Option 2 ID : 6306801037138
Option 3 ID : 6306801037136
Option 4 ID : 6306801037137

Q.20 The term ‘bespeaking’ is used for:

Ans 1. Textbook referencing

2. Reservation of book

3. Inter library loan

4. Returning of books

Question ID : 630680266973
Option 1 ID : 6306801037298
Option 2 ID : 6306801037296
Option 3 ID : 6306801037297
Option 4 ID : 6306801037295

Q.1 Who developed the concept of five fundamental categories?

Ans 1. Melvil Dewey

2. J.D. Brown

3. C.D. Deshmukh

4. S.R. Ranganathan

Question ID : 630680266922
Option 1 ID : 6306801037094
Option 2 ID : 6306801037093
Option 3 ID : 6306801037091
Option 4 ID : 6306801037092

Q.2 Which was the first State to enact library legislation?

Ans 1. West bengal

2. Tamil Nadu

3. Maharashtra

4. Andhra Pradesh

Question ID : 630680266909
Option 1 ID : 6306801037040
Option 2 ID : 6306801037041
Option 3 ID : 6306801037042
Option 4 ID : 6306801037039

Section : Discipline4
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Q.3 Who categorized three types of sources of information?

Ans 1. Denis Grogan

2. S. R. Ranganathan

3. C.W. Hanson

4. Charles Ammi Cutter

Question ID : 630680266981
Option 1 ID : 6306801037327
Option 2 ID : 6306801037329
Option 3 ID : 6306801037328
Option 4 ID : 6306801037330

Q.4 Microsoft office is an example for:

Ans 1. Application Software

2. Library Software

3. System Software

4. Utility software

Question ID : 630680266934
Option 1 ID : 6306801037140
Option 2 ID : 6306801037141
Option 3 ID : 6306801037139
Option 4 ID : 6306801037142

Q.5 What is a budget?

Ans 1. The annual estimate of income and expenditure

2. The annual estimate of income

3. The annual estimate of expenditure

4. The annual estimate of finance

Question ID : 630680266968
Option 1 ID : 6306801037276
Option 2 ID : 6306801037277
Option 3 ID : 6306801037275
Option 4 ID : 6306801037278

Q.6 How many levels of description having AACR-II?

Ans 1. Three

2. Five

3. Nine

4. Seven

Question ID : 630680266987
Option 1 ID : 6306801037351
Option 2 ID : 6306801037352
Option 3 ID : 6306801037354
Option 4 ID : 6306801037353
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Q.7 Who was the father of punched card processing?

Ans 1. John Adam Presper Eckert

2. Herman Hollerith

3. Blaise Pascal

4. Charles Babbage

Question ID : 630680266932
Option 1 ID : 6306801037134
Option 2 ID : 6306801037133
Option 3 ID : 6306801037132
Option 4 ID : 6306801037131

Q.8 The Canon of Sought Heading relates to:

Ans 1. documentation

2. Classification

3. Cataloguing

4. Information retrieval

Question ID : 630680266919
Option 1 ID : 6306801037082
Option 2 ID : 6306801037079
Option 3 ID : 6306801037080
Option 4 ID : 6306801037081

Q.9 The Good Office Committee is a voluntary organisation, which was formed to help libraries
find:

Ans 1. Name of foreign agents and vendors

2. Foreign book list

3. Books available in the market

4. Foreign exchange rates

Question ID : 630680266967
Option 1 ID : 6306801037272
Option 2 ID : 6306801037274
Option 3 ID : 6306801037273
Option 4 ID : 6306801037271

Q.10 Which was the first State to pass the Public Library Act?

Ans 1. West Bengal

2. Madras

3. Kerala

4. Karnataka

Question ID : 630680266907
Option 1 ID : 6306801037032
Option 2 ID : 6306801037031
Option 3 ID : 6306801037034
Option 4 ID : 6306801037033
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Q.11 Who set up a National commission on libraries in India?

Ans 1. National Knowledge Commission

2. AICTE

3. MHRD

4. University Grants Commission

Question ID : 630680266912
Option 1 ID : 6306801037054
Option 2 ID : 6306801037052
Option 3 ID : 6306801037053
Option 4 ID : 6306801037051

Q.12 In which of the following techniques are time and cost factors analysed?

Ans 1. Gantt Chart

2. Job analysis

3. PERT

4. System approach

Question ID : 630680266978
Option 1 ID : 6306801037316
Option 2 ID : 6306801037317
Option 3 ID : 6306801037318
Option 4 ID : 6306801037315

Q.13 How many notations were used in Colon Classification?

Ans 1. 26

2. 60

3. 74

4. 23

Question ID : 630680266926
Option 1 ID : 6306801037107
Option 2 ID : 6306801037108
Option 3 ID : 6306801037109
Option 4 ID : 6306801037110

Q.14 Keesing`s record of world event is gives information about:

Ans 1. news digest

2. biography

3. handbook

4. directory

Question ID : 630680266983
Option 1 ID : 6306801037336
Option 2 ID : 6306801037338
Option 3 ID : 6306801037337
Option 4 ID : 6306801037335
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Q.15 The index given in the DDC is called:

Ans 1. Relative index

2. An analytical index

3. Coordinate index

4. Subject index

Question ID : 630680266929
Option 1 ID : 6306801037120
Option 2 ID : 6306801037119
Option 3 ID : 6306801037122
Option 4 ID : 6306801037121

Q.16 Z39.50 standard is used:

Ans 1. as a communication format

2. for search and retrieval services

3. as a library management system

4. for cataloguing web resources

Question ID : 630680266956
Option 1 ID : 6306801037227
Option 2 ID : 6306801037229
Option 3 ID : 6306801037230
Option 4 ID : 6306801037228

Q.17 In the colon classification schedule, main class 2 library science, from where M (matter)
facet is taken?

Ans 1. Common isolate

2. Generelia

3. From same schedule

4. Generelia bibliography

Question ID : 630680266928
Option 1 ID : 6306801037117
Option 2 ID : 6306801037116
Option 3 ID : 6306801037115
Option 4 ID : 6306801037118

Q.18 What type of protocol is used by WWW to transmit data?

Ans 1. IP

2. UDP

3. HTTP

4. TCP/IP

Question ID : 630680266957
Option 1 ID : 6306801037234
Option 2 ID : 6306801037232
Option 3 ID : 6306801037233
Option 4 ID : 6306801037231
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Q.19 Who is the author of ‘The Grammar of Classification', 4th edition, 1955?

Ans 1. W.C. Berwick sayers

2. Melvil Dewey

3. H.E. Bliss

4. S.R. Ranganathan

Question ID : 630680266915
Option 1 ID : 6306801037065
Option 2 ID : 6306801037063
Option 3 ID : 6306801037066
Option 4 ID : 6306801037064

Q.20 The three-card system is mainly useful for:

Ans 1. Circulation of Books

2. Serial selection

3. Acquisition and Control of Serials

4. Book Selection

Question ID : 630680266939
Option 1 ID : 6306801037161
Option 2 ID : 6306801037160
Option 3 ID : 6306801037162
Option 4 ID : 6306801037159

Q.1 Training of professional staff within a library is called:

Ans 1. Performance appraisal

2. Off-site training

3. Job rotation

4. Demotion

Question ID : 630680266969
Option 1 ID : 6306801037282
Option 2 ID : 6306801037280
Option 3 ID : 6306801037279
Option 4 ID : 6306801037281

Q.2 In chain procedure, a link is a false link if it ends with a ______________.

Ans 1. phase relation

2. numeral

3. letter of the alphabet

4. connecting symbol or relation device

Question ID : 630680266997
Option 1 ID : 6306801037393
Option 2 ID : 6306801037392
Option 3 ID : 6306801037391
Option 4 ID : 6306801037394

Section : Discipline5
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Q.3 What is the meaning of ‘Esprit de corps’?

Ans 1. Teamwork

2. Functional work

3. Personal work

4. Organization chart

Question ID : 630680266966
Option 1 ID : 6306801037270
Option 2 ID : 6306801037268
Option 3 ID : 6306801037267
Option 4 ID : 6306801037269

Q.4 The name of the author used for indexing is called:

Ans 1. Keyword indexing

2. Citation indexing

3. References

4. Uniterm indexing

Question ID : 630680266972
Option 1 ID : 6306801037293
Option 2 ID : 6306801037292
Option 3 ID : 6306801037294
Option 4 ID : 6306801037291

Q.5 Windows NT is a/an:

Ans 1. Library Automation Software

2. Operating system

3. Content Management System Software

4. Digital Library Software

Question ID : 630680266954
Option 1 ID : 6306801037221
Option 2 ID : 6306801037219
Option 3 ID : 6306801037222
Option 4 ID : 6306801037220

Q.6 Linux is a/an:

Ans 1. Operating system software

2. Security software

3. Utility software

4. Application Software

Question ID : 630680266953
Option 1 ID : 6306801037216
Option 2 ID : 6306801037218
Option 3 ID : 6306801037215
Option 4 ID : 6306801037217
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Q.7 Unknown author`s works are called?

Ans 1. Fiction work

2. Synonymous

3. Anonymous works

4. Pseudonymous work

Question ID : 630680266996
Option 1 ID : 6306801037388
Option 2 ID : 6306801037387
Option 3 ID : 6306801037389
Option 4 ID : 6306801037390

Q.8 Who designed rules for a dictionary catalogue?

Ans 1. D.H.W.Wilson

2. Melvil Dewey

3. S.R. Ranganathan

4. Ami Cutter

Question ID : 630680266988
Option 1 ID : 6306801037357
Option 2 ID : 6306801037358
Option 3 ID : 6306801037356
Option 4 ID : 6306801037355

Q.9 ‘National Program for Acquisition and Cataloging’ is an example of:

Ans 1. Centralized catalogue

2. Co-operative catalogue

3. World catalogue

4. Publisher`s Catalogue

Question ID : 630680267001
Option 1 ID : 6306801037408
Option 2 ID : 6306801037407
Option 3 ID : 6306801037410
Option 4 ID : 6306801037409

Q.10 Which library supports Formal and Non-formal Education?

Ans 1. Public Library

2. College Library

3. School Library

4. University Library

Question ID : 630680266904
Option 1 ID : 6306801037022
Option 2 ID : 6306801037021
Option 3 ID : 6306801037020
Option 4 ID : 6306801037019
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Q.11 Which type of building is suitable for library?

Ans 1. Monumental

2. Multi-storied

3. Functional

4. Modular

Question ID : 630680266970
Option 1 ID : 6306801037285
Option 2 ID : 6306801037286
Option 3 ID : 6306801037283
Option 4 ID : 6306801037284

Q.12 The raw facts and figures about any particular topic are called:

Ans 1. Data

2. Knowledge

3. Intelligence

4. Information

Question ID : 630680266911
Option 1 ID : 6306801037048
Option 2 ID : 6306801037049
Option 3 ID : 6306801037050
Option 4 ID : 6306801037047

Q.13 Who introduced filing system at first?

Ans 1. B. W. Berghoeffer

2. Charles Ammi Cutter

3. Melvil Dewey

4. S.R. Ranganathan

Question ID : 630680266991
Option 1 ID : 6306801037368
Option 2 ID : 6306801037369
Option 3 ID : 6306801037370
Option 4 ID : 6306801037367

Q.14 Who developed the staff manual for university and college libraries?

Ans 1. ILA

2. ALA

3. S.R. Ranganathan

4. Melvil Dewey

Question ID : 630680266977
Option 1 ID : 6306801037314
Option 2 ID : 6306801037313
Option 3 ID : 6306801037312
Option 4 ID : 6306801037311
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Q.15 Computer literacy means:

Ans 1. Ability to write a computer programme

2. Ability to handle computers so as to produce, process, store and retrieve information

3. Ability to assemble computers

4. Knowing computer related vocabulary

Question ID : 630680266986
Option 1 ID : 6306801037347
Option 2 ID : 6306801037348
Option 3 ID : 6306801037350
Option 4 ID : 6306801037349

Q.16 Which one of the following is mostly prepare for good presentation in the meeting?

Ans 1. MS Excel

2. MS PowerPoint

3. MS paint

4. MS Word

Question ID : 630680266955
Option 1 ID : 6306801037225
Option 2 ID : 6306801037224
Option 3 ID : 6306801037226
Option 4 ID : 6306801037223

Q.17 What is Dublin Core?

Ans 1. Content Management tool

2. Internet protocol

3. Library management software

4. Meta data standards

Question ID : 630680266962
Option 1 ID : 6306801037251
Option 2 ID : 6306801037253
Option 3 ID : 6306801037254
Option 4 ID : 6306801037252

Q.18 Library annual report is consists of ___________.

Ans 1. Primary and Secondary

2. Analytical and Systematic

3. Descriptive and Statistical

4. Primary and Descriptive

Question ID : 630680266979
Option 1 ID : 6306801037319
Option 2 ID : 6306801037320
Option 3 ID : 6306801037321
Option 4 ID : 6306801037322
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Q.19 Who provides ‘ISBN’ in India?

Ans 1. National Library, Calcutta

2. Connemara Public Library, Tamil Nadu

3. Asiatic Library, Bombay

4. Raja Rammohun Roy National Agency

Question ID : 630680267003
Option 1 ID : 6306801037415
Option 2 ID : 6306801037417
Option 3 ID : 6306801037418
Option 4 ID : 6306801037416

Q.20 Mnemonics means:

Ans 1. Economics of classification

2. Ethics of classification

3. Aid to memory

4. Empty digits

Question ID : 630680266921
Option 1 ID : 6306801037087
Option 2 ID : 6306801037088
Option 3 ID : 6306801037089
Option 4 ID : 6306801037090
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